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Note : Attempt all the five questions. One question from each

unit is compulsory. All questions carry equal marks.

lHkh ik¡p iz'uksa ds mÙkj nhft,A izR;sd bdkbZ ls ,d iz'u djuk

vfuok;Z gSA lHkh iz'uksa ds vad leku gaSA

UNIT-I / bdkbZ&I

1. Explain the Method of Collecting Primary Data.

izkFkfed leadksa ds ladyu dh jhfr;k¡ le>kb;sA

OR / vFkok
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Write short notes on (any two) :

(a) Functions of Statistics

(b) Classification

(c) Statistical Survey

laf{kIr fVIif.k;k¡ fyf[k, ¼dksbZ nks½ %

(a) lkaf[;dh ds dk;Z

(b) oxhZdj.k

(c) lkaf[;dh; losZ{k.k

UNIT-II / bdkbZ&II

2. Calculate mean from the following data :

Wages (in Rs.) No. of Labourer

More than 0    685

"    10    500

"    20    423

"    30    389

"    40    209

"    50      73

"    60      50

"    70        0
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fuEufyf[kr vkadM+ksa ls ek/; Kkr dhft, %

etnwjh ¼#- esa½    Jfedksa dh la[;k

0 ls vf/kd    686

10 ''    500

20 ''    423

30 ''    389

40 ''    209

50 ''      73

60 ''      50

70 ''        0

OR / vFkok

Calculate mode from the following data :

(Class) (Frequency)

0-10      2

10-20      4

20-30    10

30-40      6

40-50    10

50-60      9

60-70      2

[P.T.O.]
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fuEu vkadM+ksa ls cgqyd Kkr dhft, %

¼oxZ½   ¼vkof̀Ùk½

0-10        2

10-20       4

20-30     10

30-40       6

40-50     10

50-60       9

60-70       2

UNIT-III / bdkbZ&III

3. Find out-quartile deviation and its Coefficient by the

following data :

(Class) (Frequency)

50-53      2

53-56      7

56-59    24

59-62    27

62-65    13

65-68      3
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fuEu vkdM+ksa ls prqFkZd fopyu ,oa blds xq.kkad dh x.kuk

dhft, %

¼oxZ½     ¼vko`fÙk½

50-53  2

53-56   7

56-59 24

59-62 27

62-65 13

65-68   3

OR / vFkok

Define dispersion and describe various measures of

dispersion.

vifdj.k dks ifjHkkf"kr djrs gq, blds eki dh O;k[;k dhft,A

UNIT-IV / bdkbZ&IV

4. Calculate Correlation Coefficient from the following data

by Spearman's ranking method :

X Y

20 10

22 15

24 20

25 21
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30 19

32 18

28 22

21 24

26 23

35 25

fuEufyf[kr vkadM+ksa ls fLi;jeSu dksfV fof/k }kjk lglEcU/k

xq.kkad Kkr dhft, %

X Y

20 10

22 15

24 20

25 21

30 19

32 18

28 22

21 24

26 23

35 25

OR / vFkok

Find out Karl Pearson's Coefficient of Correlation between

ages and playing habits :
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Age 15 16 17 18 19 20
No. of Students 250 200 150 120 100 80
No. of Regular 
Players 200 150 90 48 30 12

fuEufyf[kr fo|kfFkZ;ksa dh vk;q ,oa [ksyus dh vknr ds chp

dkyZ fi;lZlu dk lglaca/k xq.kkad Kkr dhft, %

vk;q 15 16 17 18 19 20

fo|kfFkZ;ksa dh laa[;k 250 200 150 120 100 80

fu;fer f[kykfM+;ksa 

dh la[;k
200 150 90 48 30 12

UNIT-V / bdkbZ&V

5. Calculate the five year running mean with the following

data and display the data as a point line figure :

Year Rain (In Inch) Year Rain (In Inch)
1901 100 1908 118
1902 94 1909 98
1903 81 1910 101
1904 78 1911 103
1905 102 1912 91
1906 147 1913 89
1907 158 1914 103

fuEu leadksa ls ik¡p o"khZ; py&ek/; dh x.kuk dhft, ,oa

leadksa dks fcUnqjs[kk fp= ds :i esa iznf'kZr dhft, %

[P.T.O.]
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o"kZ o"kkZ ¼bap esa½ o"kZ o"kkZ ¼bap esa½
1901 100 1908 118
1902 94 1909 98
1903 81 1910 101
1904 78 1911 103
1905 102 1912 91
1906 147 1913 89
1907 158 1914 103

OR / vFkok

Find out price number for the year 2001 taking 2000 as

the base year by Bowley's, Marshall-Edgeworth

method :

Price Quantity Price Quantity
A 2 8 4 6
B 5 10 6 5
C 4 14 5 10
D 2 19 2 13

Year 2000 Year 2001
Commodity

fuEufyf[kr vk¡dM+ksa ls o"kZ 2000 dks vk/kkj o"kZ ekurs gq, o"kZ

2001 ds fy, ckmys] ek'kZy&,tcFkZ fof/k ls ewY; lwpdkad Kkr

dhft, %

ewY; ek=k ewY; ek=k
A 2 8 4 6
B 5 10 6 5
C 4 14 5 10
D 2 19 2 13

oLrq
o"kZ  2000 o"kZ  2001

----x----


